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Antiderivatives 1

For problems 1 - 7, find the antiderivative. Check your answer.

1 1 23 2 1
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2
Check:
d (1 3 Lo o L o
Bt Pt S —— — 1) = —42 —
T [6:1: x +6m] 6(336) 2z +6(1) 5% 22+ 6
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Check:

d |1 4 1 4
— [x‘* - gﬂc?’ + 2m2] = Z(4x3) - §(3x2) +2(22) = 2 — 42? + 4z

3 /@+v3x4dx=/x3/4+x4/3dx=W+W+C’=4x7/4+3x7/3+0
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Check:

d |4 - 4 .
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4./36$+7seczxd:ﬂ:/36$dz+/7sec2xdx:S/ewd:ch?/seczxdx

=3¢+ Ttanz + C

Check:

d
— [3e® + Ttanz] = 3e” + Tsec® &
dx



3/2 4
5./2\/5—1—6 cosx dr = /2x1/2+6 coszdr = 2-L+6(sinx)—|—0 = — 2324 6sinx+C

3/2 3
Check:
d [4 4 (3
. [3963/2 —l—GSinx] =3 <2x1/2> +6cosz =22'/% + 6cosz = 2z + 6cosx
T

1
2\—1 —1
6./4+3(1+x) dm:/4+3<x2+1) dx = 4z + 3tan~'(z) + C
Check:

4 [4z + 3tan™'(z)] = 4(1) + 3 <

44314 )]
= ) +3(1+2%)

2+ 1

2
7./6x+sinmdx:6~ %+(—COS:E)+C=31‘2 —cosz+C
Check:

e [32% — cosz] = 3(2z) — (—sinz) = 6z + sinz

For problems 8 - 10, find f(x).

8. fl(x)=8z3+12x+3, f(1)=6

4 2

I—+12-%+3+C:2x4+6x2+3x+0

f(x):/8x3+12x+3dx:8- 1

6=/ (1)=21)*+6(1)>+3(1)+C —C=6-2-6-3=-5
Answer: f(x) = 2z* + 622 + 32 -5

9. f'(w) = (2* = 1)z, f(1) = 3.
f(x):/(xQ—l)/xdarz/x—%dxz%z2—1n|a:|—|—0

= (1) = J? W[l +C — O =0

NN

Answer: f(z) = 32?2 — In|z|



10. f"(z) =4 — 62 — 4023, f'(0) =1, f(0) =2
f@):/@—6x—mm%m:-4m%—&ﬂ+4x+c
1= f'(0) = —10(0)* — 3(0)* +4(0) + C — C =1

f(x):/—10x4—3x2—|—4x—|—1d9€=—2x5—x3+2x2+x—|—C’

2= f(0) = —2(0)> = (0)* +2(0)* + (0) + C — C =2
Answer: f(x) = —225% — 23 + 222 + 2 +2



